


GROUP — A
(NEW SYLLABUS)

| 1 Answer any five of the following : ' L

(a) Who is the author of the prose piece, “The Testament of a Walker "?

() 'Who was Dr B R Ambedkar ?
i) Dees Carlyle regard Napoleon to be * great i
| (d) What is the name of P\Tarayan s flctlonal town ?

| (e) What is Narayan’s most ambltleus work that he had been plannmg
for years ? :

Sl 'Name one of the best known works of-]awaha"rlal'N.ehru .

- (g) Apart from bemg a w1se pollt1c1an, what other quallty d1d Nehru

have ?
h)- Name the person whose dlSC]ple Nehru was.:

P '(z').; - Name the essay frem wh1ch the prose piece "[he Sc1ent1f1c Techmque
S has been extracted Vi : | e

) Who does Dante place in the lowest-arcle of Hell 7 .

e 7 _.-'Answer uny fwe of the fol]owmg i - e | 2x5=10

- (a) Who were the archrtects of the lnd1an Constltutlon el

(b) What, accordmg to Carlyle, is the sign or test of a great or her01c
. man ? s e : ot e

.'(c)l Why is Narayan 1nd1fferent to the mentlon of any petrol ‘hlke ?

(d) What do you understand by the term ’fanatrc in the context of ‘The : !

; Testament of a Walker 20

.(é)_ : What is the Mahatma s latest self»unposed ordeal"

'24'-1'-ALTF; it .' g

() Why does Forster say, ‘So Two Cheers for Democracy’ ?
' (g) Who are Forster’s law gii{ers BiE:

) What _'i.s the essential'n_eve'lty abou’t the .s.eientif_ic technique ?

o Answer cmy three of the followmg i LR - 4><3""]2

. (a) What, accordmg to Ambedkar is the hallmark of a great man ? 2

_ _:(b) How is Narayan s car damaged 7

(c) What aspect of Nehru $ personahty IS revealed in h1s letter to thc
_ -Mahatma 5 - -

- (d) What is the dlffercnce between the world of personal relatlonshlps. _
... .and the world of busmess v : : :

(e) What is the most essentlal characterlstrc of the sdentlflc technlque 7_ :

) .hnumerate the stages in the progress of the sc1ent1f1c techmque down -

the ages.
4, _Explain-with r'eferen'ce to the co‘ntext : (an-y '.two'). e i 8.'_ |
' .(a')_ A greatness stands for natural power, for predommance, for_

somethmg beyond humanity then Napoleon was assuredly great.

Besides that indefinable spark which we call genius, he represents -

a combination of intellect and energy whlch has never. perhaps been
: equalled never certamly surpassed a

(b) 1Ilack automeblle sen51b111ty and do not regret I have a strong behef
~ that man’s ultimate destiny lies in walking, that is why he is endowed
with a pair of legs, which can operate without petrol or gears. It is |

< cthis phllosophy that leaves me mdlfferent at the mentlon of any -
-' .petrol ‘hike’. - | '

eyl felt terrlbly lonely in thls Wlde world I have always felt a little
: 'lonely almost from childhood up. But a few bonds strengthened me,

. afew strong supports held me up. The loneliness never went, but it .

was lessened. But now [ felt absolutely alone, _left hlgh and dry om.

: 'a desert 1sland ' : : : )
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PART A — ¥ =i

. (a) What is a market economy ?

FeT widnfs &2
(b) Fill in the blank :
Opportunity cost is also called the. ...........c.oceeeeinin, cost.
IR DR oAl el g e _
A I ..., et it SURLRIBTE (R 03 |

(¢} Define utility.
- Sofeaerem ket

(d) What is marginal revenue ?

=i Rl o foe

(e) Draw a very Shdrt-run supply curve for perishable commodities.

R AT oo ZFFEE @I @ GOl wEet |-
e G'ii/e' an_example_ of _ﬁf(ed cost. o

¢ P e 51 Trme

2. . State two central problems of _an'_econdmy.

WY 70T (T W%‘H |

3 .'Whv is an lqoquant nega‘uvcly sloped ?

-'w@aﬁm @ma@m%ﬁm@aﬁwmﬁwﬁm? -

4. State any !wo factorb dtfcctmg the supply of a commod1ty

5 TN Gﬂﬂw emoum w Rz ﬁi‘fﬁﬂ?@ﬂ ﬁ‘ﬂm fer4i |

W

Disti_nguish ‘between short—run_ 'and_ long-run.

e S R e B |

Ceme el

]

6.  State fwo reasons behind the working. of the law of diminishing marginal product. "
- . 2 : : - 2
PR efes TeAms RidbR SRiwRer wiws o 75 wRe il
Write down the concept of normal profit. = B : ' 2
- Feolfa ey Qe o)
8.  What is price ClﬂSllClW of demand 7 MCI‘IthH any rhree 1mporlant factors determining
| price LId‘sllCllV of demand. ¥
biferia 7 fefogaimel BTTB:WW W WWT ﬁ'ﬁﬁq 1 fﬁm’m fx"of-?rﬁ‘f @%«—?ffﬁms
Tl w4
9 Suppose, when the. price of a COmmodity is Rs. 10, the quantity suppl'icd is 20
" units. As price increases to Rs. 15, the. quamlty %upphed increases to 30 units.
. Calculate the L]d%thlly of supply. - 4
4@ T, @5 AN W 10 T T TR Q@R AR 20 93 23| méﬁﬁaa it
lsﬁaﬁiaﬂfma G #(f&E 30 am?amra%w WTWWWWW|
10. Ihc. total cost (TC) qchedulc of a production umt is given below. Fmd out the.
- averagc cost (A(,) and margmal cost (M(,) schcdules 10r the pmduction umt
: - ' _ 2 :
ﬂﬁ@wvﬂ c%@qm(lC)tﬂﬁﬁ—ei—ﬁmM@QW cﬁﬁﬁ‘m%mﬂm@w '
gifes T (MC) w-‘ﬂﬁ e =41 '
(9] ; ' TC
o
st B
el
1 g
S 110
6 140
- e
mMmERGR a  fS . o L



1.

i

4

Show the reldtlonslup between average cost (AC) and mclrgmdl w%t (M(,) wnth the
“help of a dl'l{{ram : : : : e Y

AT T (AC) w #ifas @ (MC) § Hﬂ% B! o 7RIS W,MM "

Write down four characteristics of a perfectly competitive market. 4

4 eifecaiers aeiE s iy o

State and explain the law of dundnd with the help of a dmgmm - 6

B 5'?1 ﬁﬁrﬁ I WE o b ‘HQW@ “W AR 390

OR/ et

Fxplain the concepl of sho_rl—run'equil_ibrium of a monbpdly_ market a'ssu1ning zZero

cosl.

Cesiae A #[) ir?i &fﬁ 11 TRl T QWI?ﬁF{ @W &H?ﬁtfﬂ aﬂﬂm ZraTs’T |

“In perfect-compctitio'n, AR =MR but in mo’nopoly' AR SMIRLE }';E'xplain.

“ojef feRPSITETS TEMS AR = MR g Gefea T@RS AR > MR 7 — 1 41|

OR / 9931

The dcmand and supply functmns of a ﬁrm under perfectly competitive market are |

given bLlOW S

D=25-5P
S:-—5+10P ‘

where, D:>quantlty dcmandcd S= quantlty supphed and P:>pr1cc Find the

cthbrmm prlce quantltv dcmandcd and quantity supphcd

qﬁﬁﬁﬂfwﬂwwwﬁﬂﬂwmﬁmw mﬂmwwﬁmw%‘*

B =250k«
5-——5+10P

.'__?I\-; D= wifeAE ~ARE, S = A ﬂﬁﬁ“{% P— Wal
S W, ST BIfEw i I Gl SR ﬁvfﬂwu..;

L o L

16

PART B — 4o

(@) In which type of money, the face value is higher than the intrinsic value ?

@FARe mR Jfoe T Fe wew uiee
(b) . D._cﬁnc final goods. il '- S _ : L
HOI% T e | ' |
(c) What is bank rate ? el

@ 79 e

(d) What type of budget should the goverﬁm‘ent prepare in times of iﬁﬂ\atio'ti.-?'

_ i

RIS PR 5AIE (B G AT ES SR SN2 '

(e) State one cxample of non-tax fevenuél. . s _ i
I3 G BT Swizadl fml

(/) What is invisible trade ? . i ' el .

iy aifen e
Dis_l_i-ngu'ish.' b_ctWéen gross investment and net i_nveélment._ . | . D
. a‘éﬁﬁmﬂ@w o5 ﬁﬁmmvmﬂ"@m@mr |
What is pcrsonal disposable mbome 2 : ; _ - 2 o

=

1§

'ﬂﬁﬁr mﬂ]@m%s

The r_na_rginal'_ propensity to consume (MPC) of an econom'y. is 0-9 and suppdse an
additional sum of Rs. 500.crores is mvested in it. How muuh new income will be -

' gcncrdlcd in the cconomy Lori e e

el e il Bt 2Reet (MPC) 257 0-9 O 49] 26, BAS :ﬂﬁ%@ 500 @‘Tﬁ"
'Wﬁﬁ@ﬁ@iﬂ'w@?ﬂﬂ—ﬁﬂmﬂﬁmﬁww@wﬁgﬁd? '

'_24TECON_';-' o e T cknd



19. What is marginal propensity to save ? - RS _ Wik e ; | ' - OR / 2=y

siffas ey @Rerl e e I -
HExplain the value added method of calculating GDP.

20. Mention fwo main accounts of balance of payments. o g o YO T B, AT SE-ACANGH AR AW B

(F-(H Wﬁé'gﬁr A4 f2piol Sred e | s o
- _ 28. Explain the functions of the RBI.

: ( A i A L . = — < - o .v_ < 4 i
It What does the revenue account of a government budgct dontain 2 : 2 , . SROR NG (5 (RBIF SROET Qe 1 |

levm SeFI) ACEHT AL feotefe & AT ?
OR | §<!
22. Distinguish between consumer .goods and capital goods.l : S . : :
. _ _ b ' ' - : Describe the speculative demand for money.
ol B4y W% YEE] B9 ANy ol /
_ MR e YU FEIEETO bifRvia e < 4|
. The autonomous consumption of an individual is Rs. 500 and his personal di.spogablc 3
_ income is Rs. 5000 If his marginal propcnsn) to consume is 0-8, find oul the level
_of aggregate consumptlon : . 4

W5 A1fe Fey (S5 #AfREd 500 TRl S (969 Ffeors TRCANH S 5000 5l | aﬂ“wsma ;
A colol @l 0-8 Q"Cﬂ m@zﬁ cols Afie ‘new 4l |

L Wh_af is investment multiplier ? Explain it with thé help of a diagram. S

il eo Ry @bl e s T Sl

5 I)]stmgmsh between balance of trade and baldnce of pavments 5 A

aﬁ‘wﬁsﬂﬁmﬂmﬁmmww@ﬁiw

s I_)is_tingu'ish'b.ctwccn plan an_d n:o:n—p_lan expcnd_iture_; ot . - -4_'

- e o “\5[911(%‘@1%1"@ RIRE 9{[‘«‘@' forai |

297 B xplain th(, circular ﬂow of income in a blmphﬁed economy vuth two qcctors —=

households and firms. e : s 6
TSl 4 O SEmIE ?IF‘%EW — uﬂ% f% ﬂf*@g@ ﬂﬁ‘T MEG Er%wl\o SIEC b—qlﬂ 2!?1T§ zmvm _
?}‘R’.‘{ i
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(2)

1. Answer the following questions : 1x12=12
Fill in the blanks :
Q&N 273 T
(a) ‘Assam Secondary Education Act’ was passed in ——.
o Mg Frel ok 9w —— S el CafeE |
(b) The name of the first open university in India is —.
SO AN Y% PRmEmsEs a9 (2e —— |
(c) International Women Day is observed on ——.
SEifes TRt et —— oo «fem 41 27 |

(d) According to Thorndike, “learning is a bond between ——
and response”.

AHGZHT O g 26 —— o afSferm Srere 95 |

(e) Mental hygiene has three aspects—preventive, curative
and —.

TP Fregiee R fer sire—eifecaree, afeemyr we —|

() In assumed mean method, AM is the
interval.

S T AfE AM CRrR (I (I SIBqEE —— |

of any class

Give short answer in one sentence :
9Bl IS Bgﬁé-xﬁ et

(g9 Which Education Commission suggested the 10+2+3
structure of education?

@ Prwr S BreE 10+2+3 s s @i o

(h) Who introduced the concept of ‘population education’?

‘SR PR 4ROl (I 2 BRI 2

14C—1**80*/1 ( Continued)

0)

(k)

Y

(3)

Which method of learning establishes bond between
natural tendency and artificial stimulus?

ﬁﬁwmﬂzﬁwﬁmm—mmwwm?ﬁwwm
o 0 ?

Why is recognition easier than recall?

el deffewm [ 77 7

“We attend to a small stain on a white wall.” Why?
“QI 901 (IS ¥ AT Tol Gore Y s T 1 2E e o

Write the formula for finding out median from group data.

2 R Ja el sgacht forar |

. What is ‘Operation Blackboard’?

‘S @IS’ fF 9

. What does it mean by ‘vocationalization of education’

“Pre oI’ e & @ w2

. Write a brief note on ‘Assam Higher Secondary Education

Council’,

‘WWWWWﬁW’?ﬁW@ﬁWW%Wl

. What is ‘Distance Education’?

‘v e 52

. Differentiate between over-learning and relearning.

S-Fre] S <[ TR~ oryeat |

Or/ 231

Distinguish between ‘trial and error’ and ‘insightful learning’.
“ACOBI O B SF OGS I’ Ao w1 (g |

. What is span of memory?

=feq +{f= /2

. “Forgetting is a blessing.” Explain.

B R A S S R

14C—1**80%/1
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10.

11,

12.

13.

14.

15.

16.

17.

18.

14C—1**80*/1

(4)

e o2 6 2 9o Sz |

Write the concept of mental hygiene.
O TR (ReTCo! o7l |

Mention two measures that a school can adopt to prevent
mental health problems.

TP TR T @ FRE A Rwed oz $RI o 1o 79w Sw
41 | .

Write two differences between polygon and histogram.
T HIF SARSCHAI 6o AT o1 A1 & |

What is mode? In a distribution, M = 35 and Mdn = 43, find out

. What is transitory interest? Give an example. 1+1=2

2

mode. 1+1=2

7% 57 937 RO M = 35 oF Mdn = 43, 327 e 341

Mention four major problems of secondary education in Assam.

SR g R BIRGH 24 e SeEy 491 |

What are the suggestions made by the Kothari Commission to
relate productivity with education? '

frpr wore SermRTTee TS FRIG 0T R ST SRCEH!
TR 6 12

What is the importance of environmental education? Explain.

offtca PR @ 2 10 91,

Describe four measures for providing physical education in
school.

R =R Fre 2= vike! 7% 399 P41 |

Distinguish between learning and maturation.
P o AR Ao 4T A (YA

( Continued)

19.

20.

21.

22.

23.

14C—1**80*/1

(S)

Mention four characteristics of good memory.
1o ~feq GIfAG1 (3B SeEy 9 |
Or/ 941

Discuss about four subjective causes of forgetting.

yfeq Ifo1 BEFS ST 7= SAC=To= 41 |

Explain the relationship between attention and interest.
TCACIIS S SIe1Z TEr© L1 T4 11 1 |

Mention four characteristics of a mentally healthy person.

e AP 37 e oot (afiEs Suay <= |

What is frequency distribution table? Discuss.
AR5l [eres wifers 7 e 341 |

Draw a pie-diagram from the following data :

ToT SAPTIRA °1 b1 Tfbd Sk I
Class No. of Students
R BIgd R
Class—I 35
Class—II 40
Class—III 25
Class—IV 20
Total N=120
by
Or/ 541

Represent the following data by bar-diagram :
ToR SYPTIR Teitdd Tl SO 1

Class No. of Boys No. of Girls

J<idl} AIARYT | RN RN
Class—I 24 36
Class—II 28 16
Class—III 38 24
Class—IV 40 26

( Turn Over )



24.

25.

26.

27.

(6)

What is non-formal education? Discuss about its
characteristics. 2+4=6

Serorafes P 5 2 2R CIRNBPR SIces 4 |

What do you mean by value education? What measures can we
adopt for imparting value education in school? 2+4=6

Pty Frw et ot ¢ g2 JencaE few awee A Raems =if
o 5 el ot R frean 2

What are the primary laws of learning? Discuss about the
educational significance of any one of these laws of learning. 3+3=6

Preae e TfomR & 2 Fwre @@ Sfonms & @ @r el
SIA SO 41 | |

Find out quartile deviation from the following distribution

table : 6
oo feree e <191 vode Rpie fefy 4
Class Interval Frequency
cofA) S IR
50-54 4
45-49 2
40-44 6
35-39 8
30-34 2
25-29 6
20-24 4
15-19 4
10-14 4
N=40

14C—1%*80*/1 { Continued)

LD

For Blind Candidates Only
( (FF= e Wa-TaAT AT )

( In lieu of Question Nos. 1(f), 1(I), 12, 13, 22, 23 and 27 )

(ePs9@ 1(f), 1(1), 12, 13, 22, 23 9F 277 7§90 )

28. Write briefly on (any four) :
e foran (R e wifeY)

5%x4=20

(a) Mention five problems of secondary education in India as

pointed out by the Mudaliar Commission.

ToIerE Sicams (fER fal sy Wi FeFR <ot o SEy

salll

(b) Explain the concept of open education.

& MR QIReCHT Am4m 394 |

(c) Describe the objectives of women empowerment.

TiRE! FFAFIIT SrPTR I 9 |

(d) Mention the educative value of ‘trial and error’ method of

learning.

Prperg ‘A8l oI $1 afed i e Srme 4 |

(e) Write five objective causes of attention.

NG “HCoIoT a8 e i |

(f) Discuss about five characteristics of memory.

IR&F CoIor CIMBR Kacw Seaw=n 41 |

14C—1**80*/1
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(2)

PART—A | $—™%]l

( Contemporary World Politics )
( FEfE e qreaife ).

1. Answer the following : 1x6=6

(e rAIcAR Ted e

(@) Where was the first Non-Aligned Movement (NAM) Summit
held? : _
CoNBI-Fraeers Seaem (NAM)F ei2wee S e ' s oafke 2

(b) Give an example of global threat.
el orgfee b1 Swreaet fire |

~ (¢) Write the full form of ASEAN.
ASEANS 7vjf F1061 forat |-

(d) In which year was the Berlin Wall demolished?
AT Al (P TS wTeR GafE 7

(e} Who is the present Secretary-General of the UNO?
?@Ww zr‘mw 17 SHBq- 2o i 5 2

0 RIO Summit recommended a hst of development practices
called ‘Agenda 21". :

(Write Yes or No)

AT amrvfﬂzl mmwﬁre’mwmw
SI5IeRRA |

(% S g %ran)
. When did the US hege_mon_y' begin and why?" , ; 1+1¥2
S SNET NSy FRea =i o7 wiew 2fRE 2
14C—2**30*/2 | ' ( Continued )

£ g )

3. What is the difference between traditional and non-traditional
security? 2
AN WE HATHF1TS e Trers =il & 2

4. What is meant by ‘second world’? 2
‘e fReg” wee 5 e 2

5. What is fneant by allied and axis powers of the Second
World War? 1+1=2
S Rrgaa @ e o wery =1 e & 3o 2

6.: The UN Security Council has’ permanent and —— non-
permanent members. A 1+1=2

(Flll 1n the blanks)
a@wwﬁmﬂﬁwﬁaﬁ@—maﬁw—wwﬁwmﬁw;
(5T 3 =T =)

7. Mention one area each of cooperation and disagreément
between India and Bangladesh. ' : 1+1=2
Twmﬁwwmﬂmﬁ%rﬂwnmﬂmﬁﬁwﬂwl

8. What is meant by ‘Global Commons’? Suggest three steps for _
protection of ‘Global Commons’. . 1+3=4
‘e SRR’ WA 2 ﬁﬂ@ﬁnﬁwﬁmawmmm%

- qRE o e o

9. Write a short note on the pdlitica.l Systems of newly emerged :

States from the Soviet Union. 4

WWWWM@WWWWW@ﬁ
5 COTpl o |

14C—2**30%/2 | | _ * (Turn Over )
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10. Discuss briefly about the New International Economic Order _ . PART—B / 94—
(NIEO). a
TP WBAB AT *2eT 1—:@—@ Bﬂ?ﬁs ST <4 | ' _ _ e ( Politics in India since Independence )
: ' (TR SR eI )
11. Write two major areas of influence of European Union.  2+2=4 ‘ 15. Answer the following : _ : el x6=6
STCANR YA R BT 2 ¢ e a1 - were frncae Teq i
; (a) Write the full form of NEFA.
12. 'Justify India’s inclusion in the SEcurity Council as permanent : : NEFA3 W‘Tf *"@‘ feran
member. ! 4 : _ : . . ?
frareral <y 28 W Rl sEes B Iy o 4 | (b) In which district was Anti-Arrack Movement started?

@A fere Sare-Rea® wiewer wee c2few 2

(c) The Government of India appointed Mandal Commission

13. What are the different types of hegemony? Give examples of in the year -

each of them. 4+2=6 _ ' ol e
wifderer Rfea gaermz & ﬁf? e T Rt _ d | | (Fill in the blank)
| : - SRS BRI T A —— 5 e ket | '
Or/ 939 : i o
' ( SE)
What does SAFTA stand for? Examme the concept of SAFTA. o _

2+4=6 o : (d) What is the meaning of defection?

| W(SAFTA)%_WW f5e T20m 2 WHHR ARATCH R 2 | el

2 : . : 3 (e} When was the Planning Commission formed?
14, In the present world context, do you think that the UNO is :

an indispensable organization? Justify your answer. e, ' 3 , MRRPSIF SHICHT™ CPISAT 900 1 Cafeer 2 :

TR e ~f{cafFee IEREE @bl STere TRy oo IR PR SR . L Bind oub e et e _ |

> = : o (Morarji Desai/Charan Singh) became the Prime Minister of
Or / &2t ' the Janata Party Government after the 1977 election.

What are the political, economic and cultural' effects of A 8% 1ol AR T

globalization? Discuss. = - TG - 1977 v R Pree s mﬁ,‘ S 2RE W (IR

R TretAes, FRAT TF e Wﬁgﬁiﬁw ICEAIS 3 | o . | Wﬁ/wrﬁ:)

14C—0%30%/2 _ . _ ( Continued ) 14C—2**30%/2 ' | , ~ (Tumn Over)



16.

17.

18.

19.

- 20.

21.

22.

23.

- 14C—2**30%/2

(6)

Before independence, there was a ‘two-nation theory’ advanced
by the Muslim League. What were the two natlons included

Wﬁm—qﬁﬁwwmﬁﬁmwaw

in this theory? ' I*1=2
FETEE <o YA Aol ‘F-wfe vy el IREE | @R wge wHYS
91 1B w4 5 wnifee 2

Write two most important basic principles of India’s foreign
policy. : 2
ST (e T o1 oS gpgeyef Jo1 Ao foa |

Write any two featuz_‘es of coalition government in India. 2
SRS Affere SaPRT R @ 751 CafiEy o |

Write two factors that lead to the growing importance of regional
~ political party in India. 2
—W—WWWWW@W @w@w%ml

What do you mean by social movement? Give one example of

a social movement. 1+1=2
WWW%W”WW&ﬁWqW|

When was the Bharatiya Jana Sangh formed and who was
the founder President of the party? = 1+1=D
w@awwmmwmw@mﬁ%a%mwﬁm
wfRe 2

Write a note on Navnirman Movement in Gujarat.
'ewﬁwaﬁa‘rawmﬁmem BT BT forT |

Discuss the demands for autonomy in North- Eastern Region

of India.

4

o Continued )

¢ 7)

24. Explain briefly about the nature of Congress dommaoce at
the national level. 4

B e wecreg Sfierer epfs s sy Rcme w4 |

25. Why did India adopt the policy of Non-Alignment? Discuss. 4
OIS 7 CoiBl-facers M ez et 2 siceman = |

26. What is Green Revolution? Discuss briefly. _ .4
s Rz 5 2 ST e 40 |
27. Analyze the lessons India got from Emergency. : : 6
SN WREI [ SRS 21zt T Frw RKacw e w4 |
| or/ww

Write about the Chipko Movement. What was the impact of
this Movement? N 4+2=6

oot ncweTer R B 1 @2 ST oo R it 2

28. Explain the consequences of Partition of Indla 5 ' 6

SIS e ﬂﬁﬁgﬁﬁmﬂqw:
- Or/ 9@

Who is regarded as pioneer of Ind1as Nuclear Policy? Discuss
India’s Nuclear Policy. : 1+5=6

TEed ARNeRE e cfyemis B mﬂmfv‘ﬁwnﬁavnﬁ? ISEICH
WW%WW|

* 4 &

14C—_2’f*30*/2 _ ' s 24 T—POSC






(2)

1. Answer the following quesfions : ’ 1x12=12

WWWWW

(a) Who was the ﬁrst Director-General of the Archaeologmal
Survey of India?

ST OGS R AT AR casmwiw

(b) What kinds of grinding instruments were used to grmd the
. grain in Harappan Civilization?

| ’EWWW@%WWWHW@W%WQ

() What is hagiography?
e 2 !

(d) Who was Shankardeva?
EIOR (I ?

I(e) What was the name of Alberuni’s book wr'itten in Arabic
language? ' e -

SRR SRS Bl SEEE Rt A 6 2
(//:, Who led a new religious movement in Karnataka?
asa‘sﬁw e o SRR (9 (I Wi ?
" {g) Who was the most famous ruler of V1Jayanagar9

ﬁwmmwwmwﬁm

(h) Which was the language of the Royal Court of the
' Mughals'—‘ : :

mﬂaﬂwwﬁswwmv

14C—43*/81 _ g _(Continued)

(;) Where dld the

S Who ‘were the _,‘J:':

i U Who Was the fir

. s _-_AI;;ISWE_I‘ In bnef the fouoWlng qug$ti6ns_ |
| omumwmEmAW

'(d) When was the Assam_ St

(0 140—*43*/31

! .' 57__ ﬁrst breakout?
1857 T‘I\iﬁ' ﬁt’&ﬂ'{ ﬁem'ai’w W qugﬁ a

W@W‘?

(k) What was the name of present Bangladesh durmg the time

L of Partmon of Indla?

t-Pr Ldent of Independent Indla?
m’ﬁh W ?iﬂﬁi m??ﬂ% cw W@?{ 2

2x12=24

of Har appan scnpt

(b} What is Gotraw 'Wha

the two 1m ortant '
Gotra? g p Irta_nt_ rules about

o ﬁi ? cﬂm'w . f’?‘a‘w 5(31 f% 1% ?

L :,(c:) Who was Azan .Plr? Where _sl 'h1s Da_rgah Sltuated'D

nt Union establi e
~ presided over its i ished and who

{ Turn Over )




(e)

(9)

(h)

1)

(4)

Who were the Alvars and Nayanars?

Why was Khwaja Moinuddin’s Dargah very popular?‘ Give
two reasons.

e B TR AN mmafmmq%an ]

Name the two English translators of Ain-i Akbari When did
they complete this translation work? :

“oR- 3-SR @wwwiwwwmm1
(OSSR ol pfafee 2

Who was Gulbadan Begum? Which book did she write?
e @ e 2 od e oo f w2 |

How were the village Jotedars often found more effective
than the Zamindars? Give two reasons.. :

Wma@ﬁmwaﬁ:ﬁ—mﬁlﬁwﬁmﬂ -.

coall

Gy

(k)
~in Indian h1st0ry? _

)

14C—43*/31

Did the religious beliefs influence the rebels of 1857? Give
two examples.

1857WWWWWW$@W?@I
Wqﬁml

Who was Buchanan'? How valuable is Buchanan S account

WWW@G‘{?T{Q@_ c@\samﬁcﬁwﬁwms{aﬁm

‘Write two reasons that made the Dandi Yatra a notable
event. - o

ﬁrf\‘srrmmwﬁ#{%ﬁ@ﬁ— mﬁ@lwqﬁzﬁz .

( Continued)

(S)

3. Answer the following questions : 4><10¥40 

(a) How did the Harappan people procure raw materials for
craft production? .

*@mmw:eﬁ%m@mﬁﬁamw%am
FiRe ?

(b) Explain how and why Stupas were built.
PR R I R el 3 Cafde, <ol e |

(c) Write a brief note on the Quit India'Movément in Assam,
PN (IR SIS w@m'wwﬁmwcﬁm%w

(d) What was Bernier’s view on the Sati systern in Incha‘p

w@awﬁﬁmmﬁﬁm%mmqﬁ%

(e) What is I{h:—;mqall'l'p Descnbe in brlef about life in the ChlStl
Khanqah :

Wﬁ-‘?f@@ww%m@,%aWW| .

(f) Examlne the sxgmﬁcance of the rituals assomated w1th the
Mahanavanu Dibba. : ;

wﬁ?ﬁ«w e wfes (T PR e T 4 |
(g) Who was Akbar? Mention any three of his achievements. ;

R I W 2 (o R A oG e v B 1

140‘;43‘?/31 T Turri Over'r )
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(h) Examine the 51gn1ﬁcance of the Revolt of 1857

()

Chial)

Read the following passages carefully a.nd answer the questmns '

1857wﬁmaﬂﬁxﬁwqwu !

Why was salt acoepte
Disobedience Movement?

WWW cem% 2 m.ﬁ%"ﬁm@_ﬁmwtﬁw 1

_'andhlmlrmn Pact?

accordingly :

wﬁmmwmﬁwwﬁmwmmwm

4. (@)

14C—43*/31

: (blanket/rug) rnade re

Rules for monks and nuns

These are some of the rulref :'Iaxd down 1n the Vmaya Pttaka:'.' =

When a new felt (blanket/ rug] has been made by a
for (at least};. six years. If after less -
u'ld” have -‘*another new.  felt
Wl 'etl'rer or not he has.
nless he has been authonsed
by the bhtkkhus——-lt is to be’ .forfe1ted and confessed iy

bhikkhu, it is to be kept fc
than six years he

d1sposed of the ﬁrs i th

_ w8 at a farmly resadence is
presented with cakeso
two or three bowlfuls,

" more than that, it is t6

symbol of protest 1:‘1 the Crv11- :

0! ed grain' mea.l, he rnay accept -

- 80 desrres; 1If he should accept -

t ' onfe ed Hawng accepted the 7
two or three bowlfuls and havrng _ajcen them frorn there,
he is to share them a.mong the bhtkkhus Thls is proper' :

: course here

. (Continued) 14C—43*/31

( _7.’..

Should any bhikkhu, having set out bedding in a lodging

belonging to the sangha—or having had it set out—and
then on departing neither put it away nor have it put away, .
or should he go without takmg leave, it is to be confessed :

Questions :

(i) How long a bhikkhu should at Ieast keep his self—made
blanket?

(u) What bhikkhu supposed to do if he makes a blanket
- before the time fixed for it? .
(iii) What are the rules that a bhikkhu' is 'supposed* to
observe before accepting meals from a host? &
ﬁwﬁwmﬁﬁﬁ@ﬁsﬁmﬁa @Qﬁmwmﬂ:wm

mﬁmmewﬁw‘@awwmﬁ&@ﬁ%swmw
T 9 2R I, (08 G BIRTT AR e &1'7 Aeq | =qq wRdeeR
TR T FOR 1 AR, IR (PR FEIE) TACARIE S S
WS RIS (98 WiF 93w A TGN 2T A, (908 O A

" weswﬁm%ﬁﬁwwewzm :

ﬁm%ﬂamwm%ﬁmsm mwﬁhommﬂwm
i 3 AT ST T A 2O AR TR R, coim
¢ 72 71 R A o 4 AzeTS T AR | R O WA AR
41l GR!0 FIfed =P | e w2-Rof Tfe < 3 o o wace
WW@WWWWWMwﬁWWa

GRCICHR 18RI b Wi e w1 |

ﬁwmﬁwﬁwﬁﬁ%ﬂﬁm@ﬁm—w
mewﬁwmwﬁﬁmmg@m@mm
WWW@%WW@@@WMWW: -

i) mﬂswwmmﬁwwﬁw%ﬁ%‘f@mﬁm
-waﬁaﬁm?

( Turn Over ) ..



(8)
(ii) ﬁmw'wm@%ﬁwwﬂwwmaﬁmﬁfﬁﬁﬁ
el ? -

.-(iii) o awm [EF] A I AW AR R v e
TRERER AT I A7

Or/ 941

How could men and women acquire wealth'P

For men, the Manusmnttdecla_res there are seven means of _

‘acquiring wealth :

Inheritance, finding, purchase, conquest, investment,

work, and acceptance of gifts from good people.

For women, there are six means of acquiring wealth : what

was given in front of the fire (in marriage) or the bridal
procession, or as a token of affection, and what she got
from her brother, mother or father. She could also acquire

wealth through any subsequent glft and whatever her :

‘affectionate’ husband might give her.

Ques tions

(i) Accordmg to Manusmriti by which means could ‘the
men acquire wealth?

(ii) What were the means for the women to acquire wealth?

'WWWWWWWWWO

mﬁmwem@ﬁam@wam%ﬁmmmw
CiReRl 2a

'W@ﬁﬁmﬁmwﬁﬁe@m,ﬁm mmw—ar:r
CBTal, < S ST 1 TR 2= |

ﬂﬁam@amﬁm%wwﬁ S S R SRl

- wem (R TRES), CTemE IR FRA TN TS ARA
- Aceed g R Torm, Pro-wre o® @rey o1 A1 4F1-CTI

(b)

o man’s head, for in it are what look like two eyes and a
mouth, and the inside of it when it is green looks like the

(9)

i | TR TR (RAreg #ie) me%mw mﬁmﬁ«r mﬁmﬁrﬁm
Wm%wmq%wmc -

(i) S TS PR R S Ao e W
(i) BoecE R Semeaed reife o v 7

Nuts like a man’s head .

The following is how [bn Batuta described the coconut :
These trees are among the most peculiar trees in kind and
most astonishing in habit. They 'look exactly like
date-palms, without any difference between them except

that the one produces nuts as its fruits and the other

produces dates. The nut of a coconut tree resembles a

brain, and attached to it is a fibre which looks like hair.
They make from this cords with which they sew up ships
instead of (using) iron nails, and they (also) make from it
cables for vessels. |

Questwns

(i) What sumlarlty and dlss1m11ar1ty did Ibn. Batuta ﬁnd in
the coconut and date-palm trees?

(i) How has he compared the coconut to a -man’s fieaid" '

{m) Accordlng to Ibn Batuta, for what purpose are the

fibres used by the people?
IR 4 T AR

W@ﬁﬁmmﬁwwwm@m

e S e i oy e e e
TR (TS (UG TR WCd, LW W (e FRee Teom w91 g

14C—43*/31 ' - - ( Continued) | '14C—43*/31 . ( Turn Over )
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(10 )

cwm‘, Ry Teom 3T ARTH P Y cmmﬁw&:ﬁmﬁaﬁa
A2 IR ] WA, R ST SR WHES 5F % 49 A fefAbiee
R Pz, TR TRES ATe R feIreEl Izd 199 7Y HF O
T RENGE e T 2 A e oie Riere @iReeE piew
W | (T2 SRR *RfE TRRES T (S0 3T, O Al (SSECS CTe

STTe AR TR NN (@& SRS B W | O [ (PSS SR

SIS 3§32 91 Profere tewe A |
ﬁffﬂﬂ?\’:

(i) WT@WWWWW%%WWW
Rofs Aifeeio

- (iY) r\swﬁwmwﬁmmﬁwﬁf’ﬁ?
(uz) meam—aﬁwawm%%mwaﬁﬁﬂ

Or/ =

How tanks were built?

- About a tank constructed by Krlshnadeva Raya, Paes-

. wrote :

The king made a tank at the mouth of two hlllS SO that all
the water which comes from either one side or the other
- collects there; and beeudes this, water comes to it from
more than three leagues (apprommately 15 kﬂemetres) by

pipes which run along the lower parts of the range outside.
 This water is brought from a lake. Wthh itself overflows

into a little river. The tank has ‘three large plllars '
handsomely carved with figures; these connect above with -
certain pipes by whlch they get water when they have to

1rr1gate their gardens and rice-fields. In order to make this
- tank the said kmg broke down a hﬂl ..... . In the tank I saw so

 { Continued) '140—43*/31

(11 )

many people at work that there must have been ﬁfteen or
twenty thousand men, looking like ants ...

Questions :

() Name the klng associated with the construction of the
tank.

' (ii) Where did the water reservoir was built?
* (iii) How did the water get collected in the tank?
(w) Why did so many people were engaged in the

' construction of the tank?

_ WT@WWWWO

wmmmﬂﬁaﬁ%wﬁ% Cﬂ%ﬁmfﬁﬂm%ﬁfiﬁ
Toiz «ff of T TR G AR IS, AT O FER AR

26 91 RO T 7[R 299, 0T 7[R T2eF R e i R @
UOE OT; W WR TARe am R Reetee wiis (am se

fRezefbr) e == wreis B o A S o[ eifReees e A
o1 C2fRE | @3 AR @it g79 o[ o (2fRE uie @2 i Ol o
2 @i W <R C2fRe | 3RO R e I’ v T fHGT o
HIfeet; CRRAPT ee[e *MRAF 7 AfKeT IS WKz A@e e
Qe AR O MR A @R W cfRfRE | @r A3Rh R
Te q@rec 93 RN ©f® copTiRfRE.. 3RO B 32 Tz I I

4 EEre (rfAfReE, wmﬁwwmcwwwﬁw

JEAA 27, ﬁﬂﬂaamwmwﬁﬁr
.ﬂ’.’l’iﬂ?:

) wﬁﬂ‘mwaﬁwmﬁwﬁm

{u) Wﬁ@ﬁﬁqwtﬂ%‘?

- (i) wmtawﬁraﬁawwtﬁm-

(iv) P Fafer rfe X e e et w1 cefeen 2

{ Turn Over )
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(12 )

“The British element is gone, but they have left the

_ mischief behind”

~ legacy behind. Are we to get out of it or not? .
CAD, Vol. A%

Sardar Vallabhbhal Patel said

It is no use saying that we ask for separate electorates,
because it is good for us. We have heard it long enough. We
have heard it for years, and as a result of this agitation we
are now a separate nation.... Can you show me one free
country where there are separate electorates? If so, [ shall
be prepared to accept it. But in this unfortunate country if
this separate electorate is going to be persisted in, even
after the division of the country, woe betide the country; it
is not worth living in. Therefore, I say, it is not for my good
alone, it is for your own good that I say it, forget the past.

One day, we may be united.... The British element is gone,
but they have left the mischief behind. We do not want to
perpetuate that mischief, (Hear, hear). When the British
introduced this element they had not expected that they
will have to go so soon. They wanted it for their easy
administration. That is all right. But they have left the

Questions :

(i) What did Sardar Vallabhbhai Patel say in opp081t10n to
the provision of separate electorates?

(fi) What were the evil effects of the separate electorates?
(iii) Whose mischief was the provision of separate
electorates? Why had they done so?

b e, R 'iﬁ%’ﬂiﬂ?lﬁ i

| meﬁcww

wﬁﬁwﬁa‘rﬁrﬁmﬁmqﬁmﬁwmwﬂﬁ awm%ﬂr

WWWWIW&WW@@WIW@&WW@ -

sfifecen SF €3 SCERR TerEeel o o @rae @i 2.,

WW@HQ%’H@WM&WWT@%WW.

( Continued) 14C—43*/31

(13 )

oz ? A R, W@ GO A AR A e 1 Ry @39 A
CPIS 9% s Fes I fof R @ 2w, o opie Rew @[n
fPreeer ¢ree wed e AR wiE TWe 9P T AW SR
27 | (AN AR PG, G (N S 0T T2, I3 (SR e
FECTS O | B FE Holwd MR @RI 9fm Wi @@ 2’7
AfR... | IO o'F Ry (9SEms WNR FeME 1 0 o' | =i
T2 o foaafer SR e 1R (R, W) | 3oz o W«
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Or/ 511

- What should the qualities of a National langﬁage be?

Keifav months before his death Mahatma Gandhl relterated

his views on the language questlon :

'_Thls Hindustani should be neither Sanskntlsed Hindi nor
Persianised Urdu but a happy Comblnatmn_ of both. It
‘should also freely admit words wherever nééessafy from
~ the different regional Iangij"ages and also assimilate words

from foreign lazlgllages provided that‘they can mix well and

~easily with our national Ianguage. Thus our national

{ Turn Over )
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language must develop into a rich ~and powerful - 5. Draw an outhne map of India and mark ﬁve centres of Revolt of
instrument capable of expressing the whole gamut of b 1857 : |

 human thought and feelings. To confine oneself to Hindi i © Jhansi; Lucknow; Azamgarh; Agra; Delhi.
or Urdu would be a crime against intelligence and the spirit . .“ { : SRR a4 ﬂmﬁnr W&FRI T SIF O[© 1857 5 Rg i :|: o
of patriotism. : Haryansevak 12 October, 1947 B (FF (ST :
Questions : i g : . Wf%f ﬁt’ﬁ HIETT; S B8 |

Or/ W%En’
(i) Why did Gandhl_]l prefer Hmdustam as the National

Language 0{‘ India? _ _ _ 4 ' o o - Write a short note on the Non-Cooperation _Movement.

(i) What did Mahatma Gandhl consider agamst patnotlsm : i W R f"Jﬁ’iW COIet forei |
and. 1ntelhgence'? o ; _ _ 2 e = - Or/ 941
- What were the causes of_ Partition of India?
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